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Time Allotted: 2 Hours

The tigures o the margin indicate full marks.

Candidates should answer in their own words
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All symbols are of usual significance.

Answer any five questions from the following: 2x5=10
fasfefie Q- Aiele @lvss Ted mies

Suppose an investor is concerned about business choice in which there are three
prospects— the returns and probabilities are furnished below:-
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Return | Probability 3
Rs.100| 02
Rs. 50 04
Rs. 25 0.4
What is the expected value of returns of this uncertain investment?
wifvfoe Rfacia e e we fF 2
State the weak axiom of Revealed Preference Theory.
(NGAGS TWoCed 141 Fos it i 9

Can super-normal profit exist in long-run for a perfectly competitive market?
Briefly explain.
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What are the teatures of pertect competition?
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It the price elasticity of demand is unity throughout the demand curve of a
monopolist, will the firm be interested to produce?
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Mention a measure of monopoly power.
GBI PRI FwoR R 9 fs #F S @t
Derive algebraically the equilibrium condition of the multi-plant monopolist.
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What is product diversification?
“E Cafbareae awice f et 9
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2. Answer any four questions from the following: 5%x4 =20
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(a) Explain the social cost of monopoly.
GFEHA FAEA A a3 9

(b) Derive the long-run supply curve of a constant cost industry.
syt eifraifitera eI Rl @straal Fefa wea a4 e woifaafes -
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(¢) Do you think that a perfectly competitive firm may continue to produce in the
short-run even if it incurs a loss?
ojefft eifSraiTor AT (@I T AW FEPE T Fhod FYAF 20 TI8 T
IR 9

(d) What determines the degree of monopsony power in a market?
(@I ASIE ‘WHoH Foa Tial e el S s

() Monopolistic competitive market is similar to perfect competition in some
respects, but is it an efficient market structure?
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(f) Explain the long-run equilibrium of a monopolistic competitive firm.
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3. Answer any two questions from the following: 10x2 =20
e @-ie 7f6 etia Tea wes
(a) Derive the long-run equilibrium condition of the firm under perfect competition L0

by tracing the adjustment process from short-run profit situation.
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(b) Explain the equilibrium of a monopolist under third degree price discrimination. 10
SO M@ Wi FORFACTR CHT GHCH{0A! FIRRAI SIS 171 S

(c) What is perceived demand curve and proportional demand curve in monopolistic 4+3+3

competition? Comment on ‘Ideal output’ and *Excess Capacity” in a monopolistic
competitive market.

aFEHT 2feriergsa A Tee GIfEwEdl ¢ arerd SR sifEwitas w=es &
@I 9 Gt A S| Germe @ “Sfsfae Fel’-ag 1fb [{Ed S S
(d) Explain how a person can reduce risk by (i) Diversification and (ii) Obtaining 10
additional information.
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N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same dav / date of examination within | hour after end
of exam. Universitv / College authorities will not be held responsible for wrong submission
(at in proper address). Students are strongly advised not to submit multiple copies of the
same answer script.
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